precip_lig_surf Global PDF, units=mm/d)

© ©

= =

o Ul
1 1

Probability

0.05 -

vl
vO

0.00 -

0 5 10 15
precip_liq_surf

vl output 3.55e+00

lat

0 50 100 150 200 250 300 350
v0 output 3.16e+00

lat

50 100 150 200 250 300 350
lon

20

23.75

19.00

14.25

9.50

4.75

0.00

23.75

19.00

14.25

9.50

4.75

0.00




gc Global PDF, units=g/m?2)

0.125 ~

0.100 -

0.075 A

Probability

0.050 -

0.025 -

0.000 A

%\

vl
vO

lat

lat

50

50

50

100

100

100

qcC

vl output 5.34e+01

150

200

250

v0 output 6.43e+01

150

lon

200

250

150

300

300

350

350

200

211.7
169.4
127.0
84.7
42.3

0.0

211.7
169.4
127.0
84.7
42.3

0.0




gv Global PDF, units=g/m2)

© o
o o
N w

1 1

Probability

0.01 -

— vl

0 10000 20000 30000 40000 50000
qv

vl output 2.26e+04

52526

42205

31884

lat

21563

11241

920

0 50 100 150 200 250 300 350

v0 output 2.26e+04
52526
42205
31884
21563

11241

920

50 100 150 200 250 300 350
lon



surf_latent flux Global PDF, units=W/m2)

0.10 - —_ vl
0.08 A — v0
Py
S 0.06
@©
Qo
© 0.04
o
0.02 A
S T
0.00 1 T T T T T T
0 50 100 150 200 250
surf_latent_flux
vl output 9.89e+01
222.7
111.3
© 0.0
-111.3
-222.7
0 50 100 150 200 250 300 350
v0 output 9.17e+01
222.7
111.3
© 0.0
-111.3
—222.7

50 100 150 200 250 300 350
lon




qr Global PDF, units=g/m?2)

0.3 1

Probability
o
o

©
=
1

vl
vO

0.0 A

0 20 40 60 80 100
qr

vl output 1.68e+01

lat

0 50 100 150 200 250 300 350
v0 output 1.73e+01

lat

50 100 150 200 250 300 350
lon

117.0

93.6

70.2

46.8

23.4

0.0

117.0

93.6

70.2

46.8

23.4

0.0

120



gi Global PDF, units=g/m2)

Probability
o o
= =
o u

0.05 A

vl
vO

0.00 A

0 50 100 150 200 250 300
qi

vl output 7.13e+01

lat

0 50 100 150 200 250 300 350
v0 output 6.92e+01

lat

50 100 150 200 250 300 350
lon

350

368.7
295.0
221.3
147.6
73.8

0.1

368.7
295.0
221.3
147.6
73.8

0.1




gv Global PDF, units=g/m2)

© o
o o
N w

1 1

Probability

0.01 -

— vl

0 10000 20000 30000 40000 50000
qv

vl output 2.26e+04

52526

42205

31884

lat

21563

11241

920

0 50 100 150 200 250 300 350

v0 output 2.26e+04
52526
42205
31884
21563

11241

920

50 100 150 200 250 300 350
lon



nc Global PDF, units=1/m?2)

o

=

o
1

Probability

o

o

w
1

— vl

0.00 -

0.0 0.2 0.4 0.6 0.8
nc

vl output 2.05e+10

lat

0 50 100 150 200 250 300 350

v0 output 2.31e+10

lat

50 100 150 200 250 300 350
lon

1.0
lell

1.037

0.830

0.622

0.415

0.207

0.000

1.037

0.830

0.622

0.415

0.207

0.000



Probability

lat

lat

ni Global PDF, units=1/m2)

0.08 -

0.06 -

0.04 -

0.02 A

0.00 -

— vl

50

50

100

100

vl output 1.21e+08

150

v0 output 1.04e+08

150

lon

200

200

ni

250

250

300

300

350

1e8

5.410

4.336

3.262

2.189

1.115

0.042

5.410

4.336

3.262

2.189

1.115

0.042



T_mid Global PDF, units=K top)

0.3

Probability
o
o

e
=
1

— vl

0.0

180 190 200 210 220
T_mid

v1 output 1.93e+02

lat

50 100 150 200 250 300 350
v0 output 2.10e+02

o

lat

=75

50 100 150 200 250 300 350
lon

230

235.93
223.61
211.30
198.99
186.68

174.36

235.93
223.61
211.30
198.99
186.68

174.36




T _mid Global PDF, units=K bot)

0.04 ~

Probability

0.02 A

— T

— vl
— V0

lat

lat

250

50 100

50 100

260

v1 output 2.87e+02

270

150 200
v0 output 2.87e+02

150 200
lon

280

250

250

290

300

306.29
293.74
281.19
268.64
256.09

243.54

306.29
293.74
281.19
268.64
256.09

243.54




Probability

lat

lat

omega Global PDF, units=m~-1 s™-3 kg top)

0.10
— vl
0.08 - —— VO
0.06 -
0.04 -
0.02 -
0.00 ] T T T T T T
-6 -4 -2 0 2 4
omega le-5
4.731
2.366
0.000
—2.366
—-4.731
_75 .
0 50 100 150 200 250 300 350
v0 output 1.39e-06
4.731
2.366
04 . } ;M' : P e Tog 0.000
.‘ “ 1 ’) ¥ { *t ’(‘ Ao, . A e “
—25 _.;.\'3/ W BN )me * "% \('l'b '“-.:s N Mﬁt@g‘;/
RN SR ‘ : A Fe ke SN 2RO NN —2.366
_50 -
-4.731
_75 -
50 100 150 200 250 300 350

lon



omega Global PDF, units=m~-1 s™-3 kg bot)

— vl
10-1 ] \ v0
Py
3 .
©
S 1072 4
o -
10_3 | / \\
-0.2 -0.1 0.0 0.1 0.2 0.3
omega
v1 output 2.95e-03
75 - -v;’” s ,, =~ o . ‘E;‘g\ih—i(r"f_»—:‘:j ‘{5
= = z -:_\; e sy ;;;;7\\ : e 0.3017
>
- 0.1509
T 0 - 0.0000
- —0.1509
H—0.3017
Ho.3017
- 0.1509
B 0- 5 [ 0.0000
o5 N A
Voo - —0.1509
50 - o
- s o o o -0.3017
_75 e e = :\‘ i . - \4,‘ 2L X
.“:“"‘N\ - ‘w—-vu:v 4 s -
50 100 150 200 250 300 350

0.4



U Global PDF, units=m s”-1 top)

0.08 — vl
— v0
> 0.06 1
3
8 0.04 1
o
a
0.02
— —_~—
0.00 L T T T T T 4\ T
-100 -50 0 50 100 150
U
vl output -3.61e+01
75
115.6
50
57.8
| e
@ 0 0.0
-25
-57.8
-50
-115.6
-75
0 50 100 150 200 250 300 350
v0 output -1.53e+01
75
115.6
50
57.8
25 -
T 01 0.0
-25
_ _57.8
-50
-115.6
_75 .

50 100 150 200 250 300
lon

350



U Global PDF, units=m s”™-1 bot)

0.04 1
— 1
0.03 - v0
>
2 0.021
O
(@]
a
0.01 -
0'00 L T T T T T T T T T
-10.0 -7.5 -5.0 -2.5 0.0 2.5 5.0 7.5 10.0
U
vl output -3.15e-01
8.12
4.06
© 0.00
—4.06
-8.12
0 50 100 150 200 250 300 350
v0 output -2.53e-01
8.12
4.06
© 0.00
—4.06
-8.12

50 100 150 200 250 300 350



Probability

lat

lat

V Global PDF, units=m s”™-1 top)

— vl
— v0
10—1 4
10—2 4
-75 -50 -25 0 25 50 75
v
vl output 1.21e+00
75
71.7
50
35.9
25 4
0 A 0.0
_25 .
—-35.9
_50 .
-71.7
_75 .
0 50 100 150 200 250 300 350
v0 output 7.99e-01
[
75 A
71.7
50 -
35.9
25 4
0- 0.0
_25 .
—-35.9
_50 .
-71.7
_75 .
50 100 150 200 250 300 350

lon




V Global PDF, units=m s™-1 bot)

0.05 A — vl
— v0
2 0.03 1
[
& 0.02 1
0.01 A
0.00 A, : . . . . . .
-8 -6 -4 -2 0 2 4 6
v
6.04
3.02
0.00
-3.02
—-6.04
0 50 100 150 200 250 300 350
v0 output -4.38e-01
6.04
3.02
0.00
-3.02

—6.04




LW_flux_up Global PDF, units=s”-3 kg top)

— vl

0.03 - — V0

0.02 A

Probability

0.01 ~

160 180 200 220 240 260 280 300
LW_flux_up

vl output 2.35e+02

299.3

272.1

244.9

lat

217.7

190.4

163.2

0 50 100 150 200 250 300 350

v0 output 2.40e+02
299.3
272.1

244.9

lat

217.7

190.4

163.2

50 100 150 200 250 300 350
lon



LW flux_up Global PDF, units=s"-3 kg bot)

—_— v1
0.06 A — v0

0.04

0.02 -
\5

Probability

0-00 T T T T T T
200 250 300 350 400 450 500
LW_flux_up

v1 output 3.92e+02

508.1

445.2

382.2

lat

319.2

256.3

193.3

0 50 100 150 200 250 300 350

v0 output 3.93e+02
508.1
445.2

382.2

lat

319.2

256.3

193.3

50 100 150 200 250 300 350
lon



Probability

lat

lat

10°

=

o
o
1

=

o
N
1

LW_flux_dn Global PDF, units=s”-3 kg top)

— vl

0.00

0.02

0.04

v1 output 0.00e+00

0.06
LW_flux_dn

0.08

0.10

0.12

o

50

100

150

v0 output 7.74e-02

200

250

300

350

=75

50

100

150

lon

200

250

300

350

0.14

0.1436
0.1149
0.0862
0.0574
0.0287

0.0000

0.1436
0.1149
0.0862
0.0574
0.0287

0.0000




LW_flux_dn Global PDF, units=s”-3 kg bot)

0.06 — vl
— V0
>
2 0.041 \
=
@©
Qo
e
o 0.02 A
0.00 - , . . . . . .
150 200 250 300 350 400 450
LW_flux_dn

lat

lat

50 100

50 100

lon

v1 output 3.43e+02

250
v0 output 3.39e+02

250

300

300

442.5

380.1

317.8

255.5

193.2

130.8

442.5

380.1

317.8

255.5

193.2

130.8



SW_flux_up Global PDF, units=s"-3 kg top)

0.06 - — vl

0.04 A

Probability

0.02 A

0.00 A

0 50 100 150 200 250 300
SW_flux_up

v1 output 1.20e+02

315.9

252.7

189.5

lat

126.4

63.2

0.0

0 50 100 150 200 250 300 350

v0 output 1.09e+02
315.9
252.7

189.5

lat

126.4

63.2

0.0

50 100 150 200 250 300 350
lon



SW_flux_up Global PDF, units=s"-3 kg bot)

O
W
1

o
N
1

Probability

O
=
1

o
o
|

vl
vO

150
SW_flux_up

200

vl output 2.41e+01

lat

150 200 250 300 350

v0 output 2.50e+01

0 50 100

lat

200 250 300 350

lon

50 100 150

250

282.2

225.7

169.3

112.9

56.4

0.0

282.2

225.7

169.3

112.9

56.4

0.0




SW_flux_dn Global PDF, units=s"-3 kg top)

— vl
— v0
=
@©
[
£ 0.05 A
0.00 ] T T T T T
100 200 300 400 500
SW_flux_dn
vl output 3.51e+02
501.4
401.1
300.8
©
200.6
_25 .
—50 A 100.3
~7317 0.0
0 50 100 150 200 250 300 350
v0 output 3.51e+02
501.4
401.1
300.8
©
200.6
_25 .
—50 A 100.3
—75 0.0

50 100 150 200 250 300 350
lon




SW_flux_dn Global PDF, units=s"-3 kg bot)

0.02 A

Probability

0.01 ~

— vl

0 50 100 150 200 250 300
SW_flux_dn

v1 output 1.83e+02

lat

0 50 100 150 200 250 300 350
v0 output 1.87e+02

lat

50 100 150 200 250 300 350

350

362.0
289.6
217.2
144.8
72.4

0.0

362.0
289.6
217.2
144.8
72.4

0.0




nc Global PDF, units=1/m?2)

o

=

o
1

Probability

o

o

w
1

— vl

0.00 -

0.0 0.2 0.4 0.6 0.8
nc

vl output 2.05e+10

lat

0 50 100 150 200 250 300 350

v0 output 2.31e+10

lat

50 100 150 200 250 300 350
lon

1.0
lell

1.037

0.830

0.622

0.415

0.207

0.000

1.037

0.830

0.622

0.415

0.207

0.000



cldfrac_tot Global PDF, units=1)

0.04 -

0.03 -

0.02 -

Probability

0.01 ~

— vl

0.2 0.4 0.6 0.8
cldfrac_tot

vl output 6.14e-01

lat

Dy,

0 50 100 150 200 250 300 350
v0 output 5.96e-01

lat

50 100 150 200 250 300 350
lon

1.0

0.9991

0.8217

0.6442

0.4668

0.2894

0.1119

0.9991

0.8217

0.6442

0.4668

0.2894

0.1119




